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Simplify each of the following. (Remember that you can change the order
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properties of multiplication.)
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5-3)-(@-a)-(b-b-h) 24 (X X-X"X"X) "y

5. 3x)(4x) = 12x2 6. (3%)(dy) =

B x)-r @ x)=349 - -(x"Xx)



Algebra I Class Worksheet #4 Unit 1

Simplify each of the following. (Remember that you can change the order
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l.p-pp-pppp-p=p 2. Txxxﬁfy)l,= x5y?

3. 5cra-a-3-b-b- b= 15a%b’ 4, 2-xX"X"X"X"Xx-4-y= 8y
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5-3)-(@-a)-(b-b-h) 24 (X X-X"X"X) "y

5. 3x)(4x) = 12x2 6. (3%)(dy) =

BGx) @ x)=3-4 (x-x) B-x)-@-y)



Algebra I Class Worksheet #4 Unit 1

Simplify each of the following. (Remember that you can change the order
and the grouping of the factors using the commutative and the associative
properties of multiplication.)

l.p-pp-pppp-p=p 2. Txxxﬁfy)l,= x5y?

3. 5cra-a-3-b-b- b= 15a%b’ 4, 2-xX"X"X"X"Xx-4-y= 8y
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3. 5cra-a-3-b-b- b= 15a%b’ 4, 2-xX"X"X"X"Xx-4-y= 8y
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properties of multiplication.)

l.p-p-pp-ppp-p=p 2°T.X.X.X.)i.f.y.)ll=xsy3
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9. 41= 10. 103=

11. 0+-8= 12. 8+0=
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7. 25= 32 8. 1’=1
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